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xplain each of the following principles of management as proposed by Henri Fayol.

(E) co-ordination:
(1)  planning:
(iif)  organizing.
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Explain three b-:neﬁts of elasticity of demand for & product.
Explain four activitics carried out in a preventive maintenance system.

Highlight six uses of an organization chart.

Explain each of the following recording téchniques used in work studss

(i) flow process chart:

{i}  strang disgnom.

Explain each of the following types of stock taking:

i1} perpetual inventory:

fn)  perodic inventory,

Explaim four factors that determine the stock level in an organization,

Crtline four factors that may determine-wage levels in an orpanization

thighbight four benefits ﬂf'Erdcrptin% the method study i a ﬁmmr;.r.
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Hxplain each of the following terms as psed in production planing;
{1} master schedule: -+ T i o= Jen i
(i) shopschedule. . 7 i ; o
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TableT
CYCLES
ELEMENT I 3 3 4 5
A 2.0 2.1 2 24 28
A B 26 21 24 26 22
P popee A C 42 48 52 5.0 54
D 26 2.1 24 2.8 3.0
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A lime study of a job operation involves four clements: A, B, ( and D as shown in
Table I. The operation was stodicd over five cveles which are recorded in minutes.
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fi. (2} ) Highlight four measures that a manager may take to minimize industrial
disputes in an organization.
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(k) Fxplaii fonr Timitations of Management by Objectives (MBOY). (8 marks)
;'[r:] List fonr bencfite of office splomation 10 an oTpaniztion. {4 marks)
o {4 L':_rmjme; feuy harricrs o effecive decision making by a manager in an organization.
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{cl Oitline four icasons For carrying oub manpower planaing inan industrial

prganization (4 ks )
() Last four clements of stock controk. (4 marks)
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